Review for Exam 2, suggestions, but not limited to this material! Recall that your outside readings are testable material as well (journal and news articles). Be sure to study old homework problems and in class problems as well.

I. Public Goods

The marginal cost of allowing another person to benefit from a pure public good is zero while the marginal cost of a greater level of public good is positive.

Inefficient provisions (either monopoly, user fees or funding through taxes – know the different outcomes if MC is either = 0 or > 0 implying congestion). Also be aware that adding user fees when MC = 0 creates an inefficiency, but having a user fee = MC when MC is positive may eliminate an inefficiency.

Be able to show this mathematically (like your homework)

Know alternatives (and consequences) to combat inefficiencies that arise when government provides the good (user fees, queuing, and uniform provision).

Demand for a Pure Public Good is derived by adding how much people will be willing to pay at each quantity – so we sum vertically individual demand curves (finding the total willingness to pay for additional units of the good) 

Efficient Output of a Pure Public Good

MRSA + MRSB + MRSC + …+ MRSN = MRT 

MBA + MBB + MBC + …+ MBN = D and MRT = MSC (marginal social cost) = S 

Lindahl Pricing: Everyone in a group cooperates and pays their marginal benefit.
( is one in which the Pareto Efficient (MSC = MSB) level of the public good is provided and each person pays their appropriate share of the price (given by PA and PB) depending on preferences. (Here PA and PB are called lindahl prices)

** KEY – everyone pays different prices (depending on preferences) but consumes the same quantity

Know characteristics of public goods (common pool resources and toll goods as well) and freeriding

II. Public Choice

A. Taxes

Know different tax bases, different taxes, and different tax rate structures. Understand the differences between average and marginal taxes (and how tax bracket work).

A Progressive Tax has a structure where the marginal tax rate is increasing and greater than the average tax rate. ( average tax rate increases with tax base

A Proportional Tax has a structure where the marginal tax rate is constant and equal to the average tax rate. (doesn’t vary with tax base

A Regressive Tax has a structure where the marginal tax rate is decreasing and less than the average tax rate.

B. Political Equilibrium Under Majority Rule 

A CONDORCET WINNER – defeats any alternative in a pairwise vote

Problem: Even though individual preferences are transitive, collective preferences may not be. This is called the voting paradox. Which results because of cycling.

Multi-peaked preferences – as a person moves away from their most preferred outcome they become worse off until a certain point when moving further away from their most-preferred outcome makes them better off. 

Voting paradoxes only occur when individuals have multiple-peaked preferences.

Arrow's Impossibility Theorem

( It is impossible to find a collective decision-making rule meets a set of conditions that can guarantee a unique political equilibrium for a public choice. 

Conditions of Arrows Impossibility Theorem 

1) All voters have free choice; no dictator.

2) We cannot rule out multi-peaked preferences.

3) If all voters change their rankings of a particular alternative, the public choice that emerges must not move in the opposite direction.

4) Public choices are not influenced by the order in which they are presented. 

5) Public choices must not be affected by the elimination or addition of an alternative to the ballot.

6) Public choice should be transitive (so no cyclying). 

Median Voter – assumes that the voter whose most-preferred outcome is the median of the most-preferred political outcomes of all those voting will become the political equilibrium; single peaked preferences are necessary. 

Hotelling’s Model of Spatial Differentiation – relate to politicians optimal and equilibria. 

Logrolling is the act of voting for something you would ordinarily vote against so that someone else will vote for something that they would ordinarily vote against.

III. Externalities and Government Policy

Externalities 

Externalities are costs or benefits of market transactions not reflected in prices.

A. Negative Externality

The marginal external cost is the dollar value of the cost to third parties from the production or consumption of an additional unit of a good. This occurs when there is a negative externality. 

When there are external costs associated with production (or consumption)

MSC = MPC + MEC

Marginal social cost = marginal private costs (costs of producing for the firm) + marginal external costs (cost on third party)
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Note: Marginal External Cost is amount that third party would pay to have “damager” stop

1. Competitive markets lead to Qmkt and P1 (where P = MPC)
2. The efficient level of output is P*, Q efficient (where P = MSC)

3. The Inefficiency is ABC – the deadweight loss

Know private and public solutions to externalities (including but not limited to the Coase Theorem, pigouvian taxes, permits, etc.). Also know the ways to protect the air, water and clean up toxic wastes. 

B. Positive Externality  

The Marginal External Benefit is the extra benefit on third parties when a positive externality is present (also called an external benefit, is a benefit, not reflected in a price that is associated with the use of resources).  
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( We find that the optimal quantity is HIGHER than what the market produces.  Optimal prices the consumers pay are also LOWER than what the market produces.

IV. Expenditure Programs

Know the 10 – steps. 

If you are given a program, be able to identify 10 steps (so you will need to know the reasons for market failure found in chapter 4).

Efficiency consequences ( income and substitution effects (food stamp programs)

Distributional consequences (incidences of expenditure programs)

Equity-efficiency trade-offs

Problems to try in the book (some of you have asked for additional problems)

Public Goods

1. Chapter 6 Questions and Problems # 1

2. Chapter 6 Questions and Problems # 3

3. Why is efficient private provision of pure public goods is difficult?

4. Homer, Marge, and Bart Simpson, residents of the nation of Nickelodean, enjoy watching television.  The following equations describe their individual (inverse) demand functions for TV viewing:

Homer:
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Q is the number of hours of television viewed (per month).


P is the price for viewing one hour of television.

Assume that the only type of television available to the Simpsons is network television, and assume that the government of Nickelodean owns all the networks.  In order to watch TV the Simpsons must purchase a television, but there is no hourly fee for viewing television.  Given this information, how much television will the Simpsons watch?

5. There are three types of residents in Seaside, and their (inverse) demand functions for acres of park in Seaside are given by the following equations:
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a) If the marginal private cost of producing an acre of park is $255 per acre, and acres of park are a public good, then find the size of park that will be funded in Seaside.  Show graphically. What are the Lindahl prices associated with this size of park?

b) Now, assume that the park will generate noise that the people living around the park will find distasteful.  In fact, you may assume that the marginal external cost (MEC) is given by the following equation:
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Use this information to find the expression for the MSC (marginal social cost) curve.  Draw the MEC, MPC, MSC and demand functions on a graph.  (Draw the total demand for park acres that you calculated in order to solve part “a” – you are still treating park acres as a public good.)  

Find the socially optimal number of acres of park for Seaside, and label this quantity on your graph. Calculate and label the deadweight loss that would be generated if the town ignores the externality and produces a park of the size you found in part “a”.

c) If we were to try to apply the Coase Theorem to this problem, then what would happen if we were to assign the property rights (for noiseless air) to the city of Seaside?  How large would the park be once the property rights were assigned?  What would the residents affected by the park noise be willing to pay to reduce the park size?  What is the minimum amount of money the town would need to consider reducing the park size?

Public Choice

6. Chapter 7 Questions and Problems # 1

7. Chapter 7 Questions and Problems # 8

Externalities

8. Chapter 9 Questions and Problems # 6

9. Chapter 9 Questions and Problems # 8

10. The supply of flu shots is described by the following equation:

QS = 4P 

Where QS is quantity supplied per day and P is the price per shot. The demand is described by




QD = 500 – P

Where QD is shot demanded per day. Because of the external benefits to society associated with flu shots, there is a marginal external benefit of $25 are associated with each flu shot. 

a. Assuming that flu shots are sold in a competitive market, show this situation graphically. Be sure to properly label your graph and indicate if this market is efficient or inefficient. If it is inefficient, clearly show the deadweight loss.

b. Assuming that flu shots are sold in a perfectly competitive market, what is the market price per day? How many flu shots will be produced per day at that price?

c. What is the efficient annual output of flu shots? How can this level of output be achieved? 

d. What was the inefficiency associated with the inefficient level of output? (Recall that the area of a triangle is ½ b*h.)

e. How much do consumers pay? How much to producers receive? And how much needs to be raised to achieve the efficient level? 

Expenditure Programs

11. Chapter 10 Questions and Problems # 2

12. Chapter 10 Questions and Problems # 4

13. Chapter 10 Questions and Problems # 5
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